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f fundamental unit (S.I1.) of

Temperature. _
2 o |dB=|[ixB @dERe § T 5 ¥ meg Yo A AL )
If ]3 §l=l;i>< §| then find the angle between 4 and 3-

s @@ 000356 F1 o fafag |
f the number 0.00356.

1

What is the characteristic 0 |
3 ﬁra@ﬁﬁwiﬁﬁmﬁﬂmﬁﬁgsﬁﬁﬁ%mﬂaﬁmﬁ
wafig e ST =feq ! ' 1
How much should be the angle (In Radian) of a body to Project
it to the maximum distance? | |
(S TT-HAT ¥4F T FHe fArEe * | 1
Write the statement of Impulse-momentum theorem. |
4 Wwﬁumamﬁwsﬁ#ﬁaw%@mm
? 1
How does a vehicle obtain a centripteal force on a levelled
circular path? | : '
1

/./ Yeitg "@am weg Tfes e | Gey fafea

Write the relation between Linear momentum and Kinetic En-

ergy. _ .
L7 T T 60 kg, IF T 10m St SR T Lmin. F A Sl '
o et 70 e T

A motor lifts 60 kg. water to a tank 10m hight in 1min. Calcu-
late the power of motor.

9w F9l 73T 1 FHo fafen o
Write the statement of work energ
. _ y theorem.
10. get yaf |99 T §7 Frw fafag 1

Write the reason why is the earth flat at the poles.
- P.T.0. a3
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If the diameter of earth reduces and becomes half then- what
would be the duration of a day? '

15 fedt faos o w5, fioe & A & W ¢ 1

Can the centre of mass of a body be outside?
N4 wmg&nﬁﬁmwmhﬁﬁﬁﬂﬁm?aﬁ? 1
* Why the driver does not blow the whistle of the train while
crossing a bridge or tunnel.

. R ¥ 9 A9 9 9 R e A fwe g §? 1

What is the veloity of sound in air at standard temprature and
pressure? : \

-

s sl k=2 e V= (10045) T 1= (10502) A §1 R F oo
et oI
Resistance, R =,T where V= (100+5) and I= (1040.2) A. Cal-

culate percentage error in R.

'L)(mﬂﬁﬁlﬂﬁi%mvﬁmg}rﬁﬁmaﬁﬁhﬁql 1¥2

' : 1 q .
Check the correciness of the relauon :- Ermf:mgh using the

dimensional analysis.

7" SKg zeawr ard favs & fe &y ¢ X 7 fre A R R s ¥
V = (2t + 10) m/sec. : | .
fiog T t =2 sec. T R A1 9 ki T HITAE | 14
The relsity of an object of mass 5Kg. at an instant t is given by
the expression :- V = (2t* + 10) m/sec. ‘
Calculate the force acting on the object at t= 2 sec. _

/13( afy ¢ o WA @0 a ¥ T @ A IFD G nd AR H I

VT g ¥ o I SR AR FIRE AT U R 1%
If an object is moving with constant acceleration a then calcu-
late the expression for the distance covered by the bnd\y in n®
second, when initial velocity is U.

3rerar (or )

Ieair feen § Tfaeid U SRR @ 500m H FOE ¥ T TR
fireran e & A 9% 6 sec. TYEW YL W UET § | TR i R T
Befraiet =1 o9 7@ HU 1 (g = 10 m/sec?) 1%
A stone is dropped from a helicopter moving in upward direc-
tion at S00m height. [t reaches the earth after 6 seconds. What
was the velocity of the helicopter when the stone was dropped?
(g = 10 m/sec”)
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At how much depth above the earth’s surface. the valuc of
gravitational acceleration would be 10% less than that on the

surface.
% ﬁzaﬁﬁq%qaﬁwwaﬁnmﬂmgmmﬁm
84.6 min BT ¥ | . 1%

Prove that a satellite rcvolvmg close to the Earth’s Surface has
time period 84.6 min.

Wmm#mwammquﬁww:wﬁ1ﬁmu%

Establish relation between torque and moment of Inestia for.a

body. :
\ymmﬁmmmﬁﬁmwwaﬁi 1v2

Prove theorem of perpendicular axes of moment of Inestia. .

ﬁﬁgﬁﬁﬁww%ﬁmm| 1%

Write the Law’s for transverse Vibration in a stretched: stnng

24, UFH FH G S 1fd @I 8 | THHR SHYHIT I 3 misec a2 T

EmWOZmEITrFﬁEﬁTWﬁm‘ﬂrﬁﬁ-ﬁﬁQI 1%

A particle is doing simple harmonic motion, Its maximum ve-
. locity is 3 m/sec. and amptitutde of motion is G 2m. Calculate
D%/ the time period of motion.

AfEl & dHer & TR =g = fran fafad Wamﬁﬁ
e g 1 ot wfew 3 % foe i ure iR 3

Write the Law of parellelogram of Vertor addition. Draw the

labelled diagram to explain it. Obtam the formula for the re-
sultant rector g .

26. Al e ¥ T frog 1 gEeER 1w a1 ga ¥ I
mmﬂmﬁ@nm@‘ﬁﬂnmméﬁqummﬁws

Explain the circular motion of an object in vertical plane. Find

- the formula for the tension produced at thc highest and lowest

points in the string.
AT (or )
fd % 9o, %ﬂamaﬁamﬂmmnﬁamsw
' ferfi . 3

€
k}/plzun First, Second and third law of motmn with examples. .

Write necessary formula also.

\/z/ fwﬁ*wﬁﬁvﬁnﬁam;mﬁ?mqﬁﬂﬁﬁh
Wrﬁa‘nﬁqﬁa“ﬁuuﬁaﬁqaﬁnﬂmmnaﬁ*ﬁﬁﬁ

T . . 3
' F.T.0. wa3,
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,_/_-Eﬁﬁne Gravitational potential energy. Calcualte the change in

28.

the potential energy in sending a particle to height h from the
Earth’s surface. Draw necessary diagram. _
TR U AYIRY TR H IR TR FHIf | Y FwO W e
T TFR & TN =99 & Yyamq 20 19 SO & 3 1 S
W Hif | sravass fag amgu) | 4
Differentiate between elastic and Inelastic collision. Obtain the

formula for the velucities of the particles after collision, un-
dergoing head on elastic collision. Draw necessary diagram.

_ Hgar(or ) .
(i) et gad sreelt 9 F -3 e fafgn)
(ii) FTFeh Sl o e 1 7 frm }2 fag 1 s wdagds 99
Frreeit &8 areg o wifreh <t 1 wieeror € % | swravae fag SR i14+3=4

‘_‘?X Write two examples of conservative and non conservative -
0

rces. . |
iy What is the Law of consevation of mechanical energy?:
Prove that the mechanical energy is conserved for a freely
falling body. Draw necessary diagram.

29. IS Il A T sHfawrg 1 fedt 2 Y = T9F =g ¥ ghw

g SO TG HHAY | v FoF TR | 1+3=4

hat do you mean by moment of Inestia. Calculate the mo-
ment of Inestia of a solid sphere about its diometer. Draw the
necessary diagram.

3gar (or )

qleft e & w0 S ¥ 19 T W e 1w @ ey ¥
1 T = % forg 3gp o o et i | sravas fas semn
What do you mean by rolling motion. Establish the formula
for relsity and acceleration of a rolling body on an inclined
plane. Draw necessary Cusgram. 1+3=4

. T wirerh 7 §2 a1 faeme 3 fore st ofr w5t v =t
G % g H e Ffore, 9 fom- e ofedl @ fnk s &) |

What is simple pendulum? For smal! displacement explain 1< |

motion. Calculate the formula for the time period on what

quantities does it depends on? 143=4
. A" (or)
ST fohdl e &2 ST Feft & for et oA # 3 arg ¥ s
& 97 F14 F T S I Ffe 1+3=4
‘What is resonance? By drawing the diagram of resonance tube calcualte
the formula for the velocity of sound in air, BSS-XI-3
' 33
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